PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 4
Logical Thinking/ Tw duy logic

Q1. [2.1.5]

According to the pattern shown below, what is the number in the blank (*“__)?

Duea vao quy ludt dudi ddy, s6 & ché trong (“__7) la s6 ndo?
8,10,14,20,28,38, ...

A. 48 B. 49 C.50 D. 51

Solution:

8+2=10

10+4=14

14 +6=20

20+ 8 =28

28 + 10 =138

38+12=50

Key: C

Q2. [21.2]

If the day after tomorrow will be Wednesday, which day of the week will 5 days
later be?

Néu ngay sau ngay mai la thir Tw, héi 5 ngay nita la thir mdy trong tudn?

A. Saturday (Thur Bay) B. Tuesday (Thur Ba)

C. Wednesday (Thuwr Tu) D. Thursday (Thir Nam)

Solution:



Monday Tuesday Wednesday Thursday Friday Saturday Sunday

today 1 after 3 4 5
tomorrow later
Key: A
Q3. [2.1.6]

30 children form a row. Alice is the 11th starting from the front. What is her position
counting form behind?

30 dwa tré tao thanh mot hang. Alice o vi tri thir 11 tinh ti phia trudc. Hoi vi tri cua
cé dy khi dém tir phia sau la bao nhiéu?

A. 19 B. 20 C.21 D. 22
Solution:

30-11+1=20

Key: B

Q4. [2.1.7]

Alice needs 10 minutes to finish a lap. Then she needs to rest 1 minute. How many
minutes does she take to finish 10 laps if she continues her method?

Alice can 10 phit dé hoan thanh mét vong day. Sau dé ¢é dy nghi 1 phit. Héi ¢é dy
mdt bao nhiéu phit dé hoan thanh 10 vong ddy néu cé dy cir lam nhu viy?

A. 100 B. 109 C. 110 D. 90
Solution:

(10+1)x9+10=11%x9+10=99+10=109

Key: B



Q5. [2.13]

According to the pattern shown below, how many @ are there in the 9"

group?

Duva vao quy ludt dudi day, co bao nhieu © trong nhom thur 9?

© © © ©
© ©| © © ©| 0
© ©|© © © © © ©
© ©| ©|0| © |0 © © © ©
© ©| o © © © ©
©@|© ©
© ©
1* Group 22 Group 31 Group 4% Group
A. 46 B. 47 C. 48 D. 49
Solution:
1,7,13,19, .....0....
7—1=6
I+9-1)x6=1+8%x6=49
Key: D
Arithmetic/ S6 hoc
Q6. [ 2.11.1]
Find the value of 1 +3+5+7+9+ 11+ 13 +15.
Timgiatricual +3+5+7+9+ 11+ 13+ 15.
A. 64 B. 65 C. 66 D. 67
Solution:

1+3+5+7+9+11+13+15=(1+15)+B+13)+ G+ 11)+(7+9)



=16+16+16+16=4x16=64
Key: A

Q7. [211.2]

Find the value of 3 X3 +6x2+9x 1+ 18 x 2.

Timgiatricua3 X3 +6%x2+9x]+]8x2.

A. 63 B. 64 C. 65 D. 66
Solution:

3Xx34+6%x2+9%x1+18%x2=3%x3+3x2x2+3x3+3xX6x%x2
=3x(3+4+3+12)=3%22=606

Key: D

Q8. [211.2]
Find the value of 7 X 4 = 5§ x 3.

Timgid tricua 7 X4 —5 X 3.

A. 11 B. 12 C.13 D. 14
Solution:

Tx4-5%x3=28—-15=13

Key: C

Q9. [2.J1.3]

What is the number that should be filled in the blank if the equation below is
correct?
S6 dwoc dién vao ché trong néu phép tinh dudi ddy ding la so nao?
_ +3+13=28
A. 15 B. 75 C. 17 D. 45



Solution:

X+ 3=28-13
X+ 3=15
X=15%x3=45
Key: D

Q10. [2.0L1]

Refer to the puzzle on the right, find the value of B. A
Dua vao phép tinh bén phdi, tim gid tri cua B. + A B
A. 3 B.4

C.5 D.6 9 1
Solution:

A+B=11

A+1=9;A=8

B+8=11;B=3

Key: A

Number Theory/ Ly thuyét sb

Q11. [2.011L3 |

Alice has 31 pencils and Peter has 92 pencils. How many pencils does Alice have to
ask Peter to give her to make Peter has 11 less pencils than Alice?

Alice ¢6 31 cdi but chi va Peter ¢6 92 cdi but chi. Hoi Alice can xin Peter dwa cho
ban dy bao nhiéu cdc bit chi dé sau dé Peter c6 it hon Alice 11 cdi buit chi?

A. 32 B. 34 C. 36 D. 38
Solution:

31-11=20



92 -20="172
72 +~ 2=136
Key: C

Q12. [2.111.4]

15 students have even number of scores of mathematics test in total. 7 children have
odd number of scores and 3 children has even number of scores. Determine the sum
of scores of the remaining children is odd or even.

15 hoc sinh co téng s6 diém cua bai thi todn la sé chan. 7 ban ¢é sé diém 16 va 3 ban
¢ sé diém chan. Xdc dinh téng diém cia cdc ban con lai la 1é hay chan.

A. 0dd (S6 I¢)

B. Even (S6 chdn)

C. Both odd and even (Vira chén vira 1é)

D. Neither odd nor even (Khéng [é khong chan)

Solution:

15 students : 7 odd + 3 even + 5 scores = Even

5 students : Odd

Key: A

Q13. [2.JIL.1]
The numbers below follow the arithmetic sequence. What is the 9" number?
Cdc s6 dwéi ddy theo cdp sé cong. Hoi sé thir 9 1a sé nao?
198, 187, 176, 165, 154...
A. 108 B. 109 C. 110 D. 111
Solution:
198 — 187 =11
198—(9—-1)x11=198—-8 x 11 =198 —88=110
Key: C



Q14. [2.1I1.2]

How many 3-digit numbers having the units digit that is smaller than 5 are there?
C6 bao nhiéu s6 ¢6 3 chiv s6 ma chit s6 hang don vi nhé hon 5?

A. 14 B. 50 C. 450 D. 45

Solution:

abc

c:50;1;2;3;4)
a:9(1;2;3;4:;5;6;,7:8;9)
b:10(0;1;2:;3:;4:;5;6;7;8;9)
9x10%x5=90x5=450

Key: C

Q15. [2.11L.6 |
Fill the lines with ‘+’ and ‘x’ to make the equation below correct.
Pién vao cdc dong véi dau “+’ va %’ dé tao thanh mét phép tinh diing.

1 1 4 4 5=23

A l+1x4x4+5=23 B.1+1+4%x4+5=23
C.1+1+4x4x5=23 D.1+1x4x4x5=23
Solution:

I+1+4x4+5=23

Key: B

Geometry/Hinh hoc



Q16. [2.1V.2]
How many squares are there in the figure below?

Co bao nhiéu hinh vuoéng trong hinh duwoi ddy?

A. 10 B. 11 C. 12

Solution:
10+3=13
Key: D

Q17. [2.0V.9]

How many vertices do two distinct triangles have?

Hai tam giac phan biét co bao nhiéu dinh?

A. 4 B. 8 C.3
Solution:

3+3=6

Key: D

Q18. [2.IV.7]

By observing the pattern, what is the missing figure?

Bang cdch quan sat quy ludt, hinh con thiéu la hinh gi?
m,A k., om A Kk o nm,

A. K B. A C.m

‘?9*3.

D. 13



Solution:
The pattern :

@
Key: B ., A ? *f ®
Q19. [2.0V.1]
At least how many squares can be seen if viewing the figure below from the top?

Néu nhin hinh bén duwdéi tir trén xuong thi c6 thé nhin thdy it nhdt bao nhiéu 6 vudng?

A.6 B.7 C.8 D.9
Solution:

3+6=9

Key: D

Q20. [2.1VS5]

At most how many lines can be formed by using 6 points on a plane?

C6 nhiéu nhdt bao nhiéu duong thcfng duweoe tao béi 6 diém trén mot mat phcfng?
A. 15 B. 14 C. 13 D. 12
Solution:

6x5=30

30+ 2=15

Key: A

Combinatorics/ T hop



Q21. [2.V5]

After Alice gives 8 pencils to Peter and takes 6 pencils from Mary, they will have
equal number of pencils. How many pencils did Mary have more than Peter
originally?

Sau khi Alice cho Peter 8 cdi biit chi va ldy ciia Mary 6 cdi biit chi, thi ho c6 s6 biit
chi bang nhau. Hoi lic dau Mary ¢6 nhiéu hon Peter bao nhiéu cdi bit chi?

A. 14 B. 13 C. 12 D. 11
Solution:

8+6=14

Key: A

Q22. [2.V.2]

What is the greatest 4-digit number by using 2, 4, 6 and 8? (Each digit can only be
used once).

S6 16n nhdt c6 4 chir s6 tao béi'cde chiv s6 2, 46 va'8?-(Méi chiv'sé chi dwoc ding
mét lan).

A. 8642 B. 8624 C. 6824 D. 8462
Solution:

8642

Key: A

Q23. [2.V.3]

Pick 2 from 10 children to take part in interview. How many different ways are
there?

Chon 2 trong 10 dira tré dé tham gia mét cuéc phong van. Héi ¢é bao nhiéu cdch
chon khac nhau?

A. 40 B. 35 C. 45 D. 50



Solution:
10 x9=90
90 - 2=45
Key: C

Q24. [2.V.2]

How many odd numbers are there from the 4th to the 18th number?

C6 bao nhiéu s6 1é trong cdc sé dwdi day tinh tir s6 thir 4 dén s6 thir 18?
1,2,3,5,8,13, ...

A. 11 B. 12 C. 10 D. 13

Solution:

18—4+1=15

The pattern : 3 numbers.; odd ; even ; odd

15+3=5
5x2=10
Key: C

Q25. [2.V4 ]

Alice has 5 $1 coins, 4 $2 coins and 5 $5 coins, how many values of a product can
she buy without any changes?

Alice ¢6 5 dong 1 d6 la, 4 dong 2 d6 la va 5 dong 5 d6 la, héi ¢é bao nhiéu gid tri
clia mét mén hang cé 4y c6 thé mua ma khéng cé tién thiva trd lai?

A. 34 B. 35 C. 37 D. 38
Solution:

5x1+4%x2+5%x5=5+8+25=38

Key: D



